



이름: _____

날짜: _____ 점수: _____

$$\left(\left(\frac{1}{5}\right)^2 - \frac{1}{2}\right) \times \frac{3}{5} + \left(\frac{1}{3} - \frac{1}{2}\right)^2 =$$

$$\left(\frac{1}{3} - \left(\frac{1}{4}\right)^2\right) \times \frac{3}{5} + \left(\frac{1}{2} + \frac{1}{2}\right)^2 =$$

$$\left(2 + \frac{1}{3}\right)^2 + \frac{1}{2} - \frac{1}{6} + 4^2 =$$

$$\left(\frac{1}{3} - \left(\frac{1}{2}\right)^2\right) \times \frac{2}{5} - \left(\frac{3}{2} - \frac{2}{3}\right)^2 =$$

$$\left(\frac{1}{2} - \left(\frac{1}{6}\right)^2\right) \times \frac{1}{3} - \left(\frac{2}{5} - \frac{1}{3}\right)^2 =$$

$$\left(\left(\frac{1}{3}\right)^2 + \frac{2}{3}\right) \times \frac{1}{2} - \left(\frac{2}{3} + \frac{3}{4}\right)^2 =$$

$$\left(\frac{1}{4} + \left(\frac{2}{3}\right)^2\right) \times \frac{1}{3} + \left(\frac{1}{5} - \frac{2}{5}\right)^2 =$$

$$\left(5 + \frac{1}{5}\right)^2 + \frac{1}{2} + \frac{2}{5} \times 4^2 =$$

$$\left(\frac{2}{3} + \left(\frac{3}{2}\right)^2\right) \times \frac{1}{5} + \left(\frac{3}{4} + \frac{1}{2}\right)^2 =$$

$$\left(\frac{1}{5} + \left(\frac{1}{3}\right)^2\right) \times \frac{1}{2} - \left(\frac{2}{5} - \frac{3}{5}\right)^2 =$$



이름: _____

날짜: _____ 점수: _____

$$\left(\left(\frac{1}{5}\right)^2 - \frac{1}{2}\right) \times \frac{3}{5} + \left(\frac{1}{3} - \frac{1}{2}\right)^2 = \left(-\frac{1117}{4500}\right)$$

$$\left(\frac{1}{3} - \left(\frac{1}{4}\right)^2\right) \times \frac{3}{5} + \left(\frac{1}{2} + \frac{1}{2}\right)^2 = \frac{93}{80} = 1\frac{13}{80}$$

$$\left(2 + \frac{1}{3}\right)^2 + \frac{1}{2} - \frac{1}{6} + 4^2 = \frac{196}{9} = 21\frac{7}{9}$$

$$\left(\frac{1}{3} - \left(\frac{1}{2}\right)^2\right) \times \frac{2}{5} - \left(\frac{3}{2} - \frac{2}{3}\right)^2 = \left(-\frac{119}{180}\right)$$

$$\left(\frac{1}{2} - \left(\frac{1}{6}\right)^2\right) \times \frac{1}{3} - \left(\frac{2}{5} - \frac{1}{3}\right)^2 = \frac{413}{2700}$$

$$\left(\left(\frac{1}{3}\right)^2 + \frac{2}{3}\right) \times \frac{1}{2} - \left(\frac{2}{3} + \frac{3}{4}\right)^2 = \left(-\frac{233}{144}\right) = \left(-1\frac{89}{144}\right)$$

$$\left(\frac{1}{4} + \left(\frac{2}{3}\right)^2\right) \times \frac{1}{3} + \left(\frac{1}{5} - \frac{2}{5}\right)^2 = \frac{733}{2700}$$

$$\left(5 + \frac{1}{5}\right)^2 + \frac{1}{2} + \frac{2}{5} \times 4^2 = \frac{1697}{50} = 33\frac{47}{50}$$

$$\left(\frac{2}{3} + \left(\frac{3}{2}\right)^2\right) \times \frac{1}{5} + \left(\frac{3}{4} + \frac{1}{2}\right)^2 = \frac{103}{48} = 2\frac{7}{48}$$

$$\left(\frac{1}{5} + \left(\frac{1}{3}\right)^2\right) \times \frac{1}{2} - \left(\frac{2}{5} - \frac{3}{5}\right)^2 = \frac{26}{225}$$